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Question 1

Choose the correct answer: [S]
() 416x3x___ =3x416x6

()3 (b)416 (¢c)6 (d)1

(ii) The number which is left over after division is called
(a) dividend  (b) divisor (c) remainder  (d) division
(iii) There are minutes in quarter past an hour.
(a) 60 (b) 15 (c) 30 (d) 24
(iv)  When we divide a number by 'I' ____is the quotient.
(a) 1 (b) 0 (c) number itself (d) none
(v) is a month having 30 days.
(a) May (b) June (c) July (d) August
(vi)  How much more to be added to 100g to make it 500g?
(a) 400¢g (b) 300g (c) 200g (d) 100g
(vii) 10x10x10x1=__
(@) 1 (b) 10 (c) 100 (d) 1000
(viii) days are there in a non leap year.
(a) 365 (b) 366 (c) 362 (d) 360
(ix)  Which comes next? 907, 806, 705,
(a) 406 (b) 503 (c) 302 (d) 604
(X) 25 min past an hour is same as ______min to an hour.
(a) 25 (b) 30 (c) 35 (d) 40
Question 2
()  Fill in the blanks: [6]
(@ __ 200g weighs 1Kg.
(b) Quantity of liquid a container can hold isits ___.
(¢ 6x__ =24
d 35+5=____
(e) ____ hours make 2 days.
(f) Division is repeated ______ and multiplication is repeated
(ii) Write true or false: [3]

(@ If9x8=72,then72+9=8
(b) Distance from your house to airport is measured in metre.
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(¢) 100 times 9 is 900.

(d) There are 30 minutes in half past an hour.

(e) Length of an eraser is measured in millilitre.

(f) When a number is multiplied by '1" product is '1".
Question 3

Do as directed:

(i)  Solve the following with the help of repeated subtraction. [3]
(a)32+8
(b)63+9

(ii) A basket contains 1351 candies. How many candies will be there in a 5 such [2]
baskets?

(iii) Help Sumi to solve these problems through easy multiplication. [2]

(a)6x40=____
(b)20x30=___
(c)15x1000=___
(d)200x5=____

(iv)  Anil used the multiplication tables to match the following problems. How did he [2]
solve it?

(a) 18 +3
(b) 20 = 10
(c) 18 +2
(d)25=+5
Question 4

(i)  Write the time in figures: [3]
(a) Half past 8
(b) 50 min past 8
(c) quarter past 8

O[N] |

(d) quarter to 8
(e) 5 min past 8
(f) 25 minto 8

(ii) Find the quotient and the remainder: [3]
(a) 693 -3
(b) 857 = 4
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Question 5

The following pictograph shows the number of pumpkins harvested by the farmers. [3]
Jack T z \I } \‘ i \‘ i‘ \ \

Edwin \ 1 \‘ A \ -‘ix“?

- A& A A

" 666666

Harvey

Peter Kk kA Kk A &

Key < =50 pumpkins
(a) How many pumpkins did Edwin harvest?
(b) Who all harvested the same number of pumpkins? How many?
(c) What is the difference between the number of pumpkins harvested by Jack and
Alex?
Question 6

Write the following time shown in clocks using figures, 'past' and 'to': [4]

(i)

(ii)
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(1ii)

(iv)

Question 7

Convert the following:

(i)
(ii)
(iii)
(iv)

2x500g=___ kg
6mldecm=___ cm
4x1000ml=_ L
1706 cm = m

cm

Hkokkkok

[4]
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